| Efficiency vs Dxy |
>0.01,
o : 5 5 : : 5 5 : 5
@009t T o T S o

e S e e e
o S A A
O e A A 0 S A
© Foo : : : : : : : :
0.006 it
R
L7 S T R e
I T

O e s it S RS S S
o o'+'
] S S A SRS S L
D: r !

0_9:_ ................................... 1| SEREEPRPOF RPPR- RPN SRS

08 e 55-15-10 =50 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFitbasel RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFitbase2_ RECO

nND.02
S

O_leo_llll:lll|:|||q:!|ﬂlll:||||:||||

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


